Redox Half Reactions Worksheet

Complete and balance the following reactions using the half-reaction method.

a. Fe** + MnO = Fe* + Mn?*

b.Sn*" +10,” — Sn*" + T’

c.8* +NO,” —S+NO

d. Mn** + BiO,” — Bi’* + MnO,”

e.1,+Na,5,0, — Na,S,0, + Nal



Redox Half Reactions Worksheet

Answers

a. Fe** + MnO = Fe* + Mn?*

[Fe** — Fe’" + e x5
+ MnO, +8H" +5¢” — Mn?* + 4H,0
= 5Fe?* + MnO,” + 8H" — 5Fe" + Mn?* + 4H,0

b.Sn*" +10,” — Sn*" + T’

[Sn** — Sn** + 27 x 3
+ 103 +6H" + 6e” — I + 3H20
= 6H" + 3Sn?" + 10,” —35n*" + 1"+ 3H,0

c.8* +NO,” —S+NO

[S> —>S+2ex3
+ [NO” +4H" +3e” — NO + 2H 0] x 2
= 8H" +35” + 2NO,” — 35+ 2NO + 4H 0O

d. Mn?* + BiO,” — Bi** + MnO,”

[Mn*" + 4H,0 — MnO,” + 8H" + 5¢7] x 2
+ [BiO, +2e + 6H" — Bi’* + 3H,0] x5
= 2Mn?* + 5BiO,” + 14H" — 5Bi** + 2MnO, + 7H,O

I + Na,S.O —>NaSO + Nal

27273
2Na,S,0, + L, — Na,S,0, + 2Nal
+ 1,+2Na,S,0, — 2Nal + Na,5,0,
= 4Na,5,0, + 21, — 4Nal + 2Na 5,0

2946
= 2Na25203 + 12 — 2Nal + NaZS 4O6
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